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QUESTION 1

When creating a stored procedure that will access non DB2 resources using the authorization ID of the user invoking
the stored procedure, what value must the SECURITY clause specify? 

A. DB2 

B. RACF 

C. USER 

D. DEFINER 

Correct Answer: C 

 

QUESTION 2

Which statement is true about table check constraints? 

A. Only one constraint per column is allowed. 

B. The LOAD utility cannot enforce the constraint. 

C. A constraint placed on a table does not apply to a view defined on the table. 

D. A row meets the requirement of the constraint if the condition evaluates to true or unknown. 

Correct Answer: D 

 

QUESTION 3

Poorly tuned memory can affect application performance, such as having sequential prefetch turned off. Which statistic
should you monitor from the statistics report to be sure this is not occurring? 

A. PREF.DISABLED-NO BUFFER 

B. PREF.DISABLED-NO READ ENG 

C. BUFF.UPDATES/PAGES WRITTEN 

D. PAGES WRITTEN PER WRITE I/O 

Correct Answer: A 

 

QUESTION 4

Given the following statements have been run successfully and the buffer pools BP1 and BP2 both have the same page
size: CREATE TABLESPACE TS1 IN DB1 DEFINE YES BUFFERPOOL BP1 MAXPARTITIONS 15 MEMBER
CLUSTER ; CREATE TABLE TB1 (COL1 INT NOT NULL WITH DEFAULT) IN DB1.TS1 ; COMMIT ; ALTER
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TABLESPACE TS1 BUFFERPOOL BP2 MAXPARTITIONS 20 ; What is the next logical step in the sequence to
CREATE an index IX1 on COL1 on TB1? 

A. ALTER TABLESPACE TS1 MAXPARTITIONS 15; 

B. COMMIT; 

C. CREATE INDEX IX1 ON TB1 (COL1); 

D. REORG TABLESPACE TS1; 

Correct Answer: C 

 

QUESTION 5

The following SQL statement is issued: SELECT col1 FROM tb1 ORDER BY col1 ASC The following results are
received: 1111 AAAA Which statement is true? 

A. The encoding scheme of the table is EBCDIC. 

B. The encoding scheme of the table is UNICODE. 

C. This could never happen, this is an error and must be reported. 

D. This is expected behavior and independent of the encoding scheme. 

Correct Answer: B 

 

QUESTION 6

Workload Manager (WLM) manages how many concurrent stored procedures can run in an address space and the
number of concurrent stored procedures in an address space cannot exceed the value of the NUMTCB parameter.
Which statement about the value of NUMTCB is correct? 

A. NUMTCB parameter must be set to 1 for Java stored procedures. 

B. NUMTCB parameter must be set to 1 for REXX stored procedures. 

C. NUMTCB parameter can be a value greater than 1 for native SQL stored procedures. 

D. NUMTCB parameter can be a value greater than 1 when a stored procedure invokes DB2 utilities. 

Correct Answer: B 

 

QUESTION 7

Which of the items listed below is NOT a prerequisite for using CURRENT EXPLAIN MODE? 

A. The dynamic statement cache is enabled. 

B. The client application contains some explainable statements. 
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C. The PLAN_TABLE and DSN_STATEMENT_CACHE tables must be created using a EBCDIC encoding scheme. 

D. Both PLAN_TABLE and DSN_STATEMENT_CACHE_TABLE exist on the DB2 server and the table names are
qualified with the current SQLID that is used when running the application. 

Correct Answer: C 

 

 

QUESTION 8

In which situation does adding a referential constraint place a table space containing data into check-pending status? 

A. When a primary key is defined on a table with no unique index. 

B. When a foreign key is defined on a table with the ENFORCED option. 

C. When a foreign key is defined on a table and a corresponding primary key has not been defined. 

D. When a foreign key is defined on a table with NOT ENFORCED option and a unique index has not been defined. 

Correct Answer: B 

 

QUESTION 9

Which trace gives information about frequent log space shortages? 

A. Audit trace class(8) 

B. Statistics trace class(3) 

C. Accounting trace class(10) 

D. Performance trace class(4) 

Correct Answer: B 

 

QUESTION 10

What is the purpose of the following query? SELECT DBNAME, NAME FROM SYSIBM.SYSTABLESPACE TS WHERE
NOT EXISTS (SELECT TP.DBNAME, TP.TSNAME FROM SYSIBM.SYSTABLEPART TP WHERE TP.DBNAME =
TS.DBNAME AND TP.TSNAME = TS.NAME); 

A. It displays the number of inconsistent rows in SYSIBM.SYSTABLESPACE. 

B. It identifies which tables do not have related rows in SYSIBM.SYSTABLEPART. 

C. It identifies which table spaces have missing related rows in SYSIBM.SYSTABLEPART. 

D. It displays which rows in SYSIBM.SYSTABLEPART do not have a matching table name in
SYSIBM.SYSTABLESPACE. 
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Correct Answer: C 

 

QUESTION 11

For monitoring space growth over time, which statistics should NOT be considered? 

A. SYSIBM.SYSTABLEPART_HIST CARDF, SPACEF SYSIBM.SYSINDEXPART_HIST CARDF, SPACEF 

B. SYSIBM.SYSTABLEPART CARDF, SPACEF SYSIBM.SYSINDEXPART CARDF, SPACEF 

C. SYSIBM.SYSTABLESPACE DSSIZE, AVGROWLEN SYSIBM.SYSINDEXES PIECESIZE, AVGKEYLEN 

D. SYSIBM.SYSTABLESPACESTATS SPACE SYSIBM.SYSINDEXSPACESTATS SPACE 

Correct Answer: C 

 

QUESTION 12

For which table type could you specify ALTER TABLE tb1 DATA CAPTURE CHANGES? 

A. Catalog tables 

B. Directory tables 

C. Auxiliary tables 

D. Declared global temporary tables 

Correct Answer: A 

 

QUESTION 13

Which of the following techniques CANNOT be used to implement DB2 based row level authorization in a read-only
environment for a specific table? 

A. Using a view. 

B. Using a VALIDPROC. 

C. Using multi-level security. 

D. Using masks and permissions. 

Correct Answer: B 

 

QUESTION 14

When is a merge scan join a well performing access path? 
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A. When the number of qualifying rows of the inner and outer table are both large. 

B. When the query references at least two dimensions and the STARJOIN subsystem parameter is 1. 

C. When the number of rows in the outer table is small and the number of pages accessed in the inner table is small. 

D. When the matching columns of the inner table are in a non-clustering index or the outer table has duplicate qualifying
rows. 

Correct Answer: A 

 

QUESTION 15

Which minimum system privilege allows you to create a trusted context? 

A. DBADM 

B. SECADM 

C. SYSCTRL 

D. ACCESSCTRL 

Correct Answer: B 
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